Kimberly-Clark Corporation (KMB)

Solution to Continuing Case, Chapter 15
TRACKING THE HISTORY
Simple valuations are based on the present and past financial statements. So first establish the residual operating income (ReOI) history and the drivers of the ReOI (from the solution to the Continuing Case in Chapter 14):
The ReOI history, 2008-2010:

Amounts in millions of dollars
2010


2009


2008
Operating income


2,500                          2,815                           1,801

Core operating income

2,164                          2,325                           2,053

Average NOA


          11,268                        11,363                         11,733

ReOI  (OI – 0.07 × Ave NOA)           1,711                          2,020                             980

Core ReOI (Core OI × Ave NOA)     1,375                          1,530                           1,232

AOIG (Core) 



-155                              298

The driver history, 2008-2010:






2010


2009


2008
RNOA




22.2%                          24.8%                          15.3%

Core RNOA                                        19.2%                         20.5%                           17.5%

Core PM from sales                              9.0%                         10.4%                            8.5%


Other Core OI/NOA                             3.5%                           2.9%                            3.4%

ATO




 1.752                         1.682

          
1.655

ΔNOA




  -95                             -370                               -22

NOA growth rate


 -0.8%                          -3.2%                           -0.2%

Sales growth rate


 3.3%                           -1.5%                            6.3%

EPS                                                      4.47                              4.53                            4.06

The flat ReOI was due to fairly flat profit margins from sales, but with a slightly increasing ATO, but the flat sales growth and slight decline in NOA also contributed. 

SIMPLE VALUATION
Using the inputs above and fro reformulated financial statements of Chapter 10:

Core RNOA2010 = 19.2%

NOA at the end of 2010 = $11,521 million

Average growth rate for NOA over last 4 years = 0.0%  (approx)
Forecast ReOI for 2011 by applying the sustainable Core RNOA for 2010 to NOA at the end of 2010, with the required return for operations of 7.0%. 

ReOI2011 = (0.192 – 0.07) × $11,521 = $1,406
Setting the growth rate equal to the historical NOA growth rate of 0%, 
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Setting the value of the minority interest (VMI) at 4.3 times book value of $285 million = $1,226 million (as an approximation, using the P/B ratio for the common equity), and using the option overhang number ($93 million) from the Chapter 14 Case, 
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         = $24,953 million or $61.32 per share on 406.9 million shares outstanding.

With no growth (g =1.0), this is a no-growth simple valuation. It is just a little below the market value of $65.24 per share. So, according to the simple valuation, KMB is reasonably priced at a market price of $65.24 in March 2011.  

Rather than using the historical growth rate for NOA, one might use the historical growth rate for sales if asset turnovers (ATO) are expected to remain fairly constant—and the ATO numbers for 2008-2010 are fairly stable. The average sales growth rate over the past 4 years was also about 0%, so this would yield the same valuation. 
REVERSE ENGINEERING

At a market price of $65.24 per share relative to the no-growth value of $61.32, one can quickly see that the market is not building in much growth. The market is saying that KMB in the future will look very much as it has in the recent past in the financial statements. But we can formally carry out the reverse engineering exercise to confirm this:
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                  g = 1.0051   (an 0.51% growth rate) 
The growth rate of 0.51% in ReOI can be translated into an expected growth rate for operating income, along the lines of Chapter 7 reverse engineering.  

SENSITIVITY ANALYSIS

Put the raw numbers here into a spreadsheet, like the one you prepared in the Case for Chapters 10 and 12. Then carry out a sensitivity analysis by varying the growth rate, the RNOA, and the required return. Prepare a valuation grid like the one in Chapter 15. How sensible does the $65.24 market price look now?
If you see that KMB can add some growth (coming out of a recession), this looks like a BUY.

PS; The stock price in June, 2012 was $80.60). 
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